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Questions
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1 Use the associative property to fill in the missing numbers.

5+ (12 +8) =( ) + ( )+ 8

2 Use the associative property to fill in the missing numbers.

(9% 6)x5=9x ( x )

3 Use the commutative property to fill in the missing numbers.

25+12+35= + +12

4 Use the commutative property to fill in the missing numbers.

2x7x4=2x X
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5 Use the distributive property to fill in the missing numbers.

3x(4+7)= x + x

6 Use the distributive property to fill in the missing numbers.

5x(6+3)= X + X

7 Solve1lll-(6x13)+9

Answer
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8 Solved4+[12+(3-15)]x3

9 Solve63+16+-5x6-124

10 SOLve[(4+5)2-4x19]+%
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Answers
e B
Question Question Answers Standard
number
1 Use the associative property to fillin ' 5+ (12 +8) =(5+ 12) 3.0AB.5
the missing numbers. +8

5+(12+8)=(?7+7)+8

2 Use the associative property to fillin |+ (9x6)x5=9x(6x5) 3.0ABS5
the missing numbers.
OxB6)x5=9x%x(?x7?)

3 Use the commutative property to fill |+ 25+12+35=25+35 3.0AB5
in the missing numbers. +12
25+ 12+35=7+7+12

4 Use the commutative propertytofill | 2x7x4=2x4x7 3.0AB.5
in the missing numbers.
2Xx7x4=2x7%x7

5 Use the distributive property to fillin | 3 x(4+7)=3x4+3 3.0AB.5
the missing numbers. x 7
3x(4+7)=7x7+7x7

6 Use the distributive property tofillin | 5x(6+3)=5x6+5 3.0AB.5
the missing numbers. X
Ex(6+3)=7x?7+7x7?

7 Use the distributive property to fillin |+ 111 -(6x 13) +9 50A.1
the missing numbers. =111-78+9
5x(6+3)=7?x7+7x7 =33+9
=42
\- 4
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Answers

e R
Question Question Answers Standard

number

8 Solve 4 +[12+(3-1.5)] x3 4+[12+(3-15)]x3 5.0A.1
=4+[12+15]%x3
=4+8x3
=4+24
=28

9 Solve 63 +16+5x6-124 63+16+5x6-124 6.EE.Al
=216+16+5x6-
12.4
=216+32x6-124
=216+19.2-124
=2352-124
=222.8

1
10 Solve [(4 + 5)2 -4 x 35] + 73 [(4+5)2-4x19] = % 6.EE.A.1

:[92-4x19]+%

=[81- 4 x 19]+%

- 3 -1
=[81-76] + =

5.1
—5.3

=15
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